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Homework for Lesson № 16

Write expressions to solve the word problems. 

A. Mary wants to go on three different rides at 
the carnival.  The roller coaster costs a tokens, 
the Ferris wheel ride costs b tokens, and the 
bumper cars costs c tokens.  She wants to go on
the roller coaster 4 times, the Ferris wheel 
once, and the bumper cars twice fewer than the
roller coaster.  How many tokens should she 
buy?

_______________________ 

B. Nikita always walks home from school 
using the same route.  First, he walks x blocks 
to the store, then y blocks to the school.  After 
school he walks back the same way.  Nikita 
had 5 days of school this week.  How many 
blocks did he walk this week? 

_______________________ 

Solve the equations:

1

?
R B F

St Sch

3 2 – 7 2 : x = 8

✔✔

x =

x =

x =

x =

 ① ② ①  ②

7 2 : x =

7 2 : x =

6 3 : (x + 1) = 9

x + 1 =

x + 1 =

2



2

Solve the word problems:

A. A right triangle has one other angle that is 
35º. What is the size of the third angle?

_______________________ 

B. A triangle has angles 46º and 71º. What type
of triangle is this?

_______________________ 

Find missing sides (if any) and the perimeters of the shapes and express them in 
appropriate units.
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In your notebook solve the equations. Check you answers and copy them here.

7x + 81 = 571          9y – 1564 = 3674          6784 – 5w = 1959

x = __________ y = __________ w = ___________ 

Calculate: 
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Use the number rays to multiply the fractions below:
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Calculate:
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Find the answer without cumbersome calculations:

x + 283 – 119 + 821 – 283 + 120 – 820 – x = _________

w × 360 : 90 × 247 × 90 : 360 × 24 : 247 : 2 : w = __________ 

Use a compass and a straight edge to plot
straight line AB  ⟂ CD. Write down your 
algorithm.

1. ______________________ 

2. ______________________

3. ______________________

4. ______________________

5. ______________________ 7. ______________________

6. ______________________ 8. ______________________ 
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